
Lesson – S6 Students Cross-number Puzzle     

Become your own author. 

Name ________________________   
 

 

 

ACROSS DOWN 

1.  (6 X 5) + 4 = 

 

2.   (2 + 2) x 4= 

 

3.  6 x 7 = 

 

5.   5 x 5 = 

 

6.    (9 x 1) + 1 = 

 

7.  (10 x 1) + 1= 

 

8.  9 x 5 = 

 

9.  (8 x 4) + 5= 

 

11.  (8 x 4) + 5 = 

 

12.  (6 x 5) + 1= 

1.  (3 x 9) + 8 = 

 

2.  6 x 2 = 

 

3.  (8 x 5) + 5 = 

 

4.  (6 x 3) + 2 = 

 

5.  (5 x 4) + 1= 

 

6.  5 x 3  = 

 

7.   7 x 2 = 

 

8.  7 x 7 = 

 

9. 9 x 3  = 

 

10. 9 x 9 = 

Complete the Across equations first then the 

down equations.  You will discover the answers 

located in the QR Code.   


